MSFEE

I fiH B i & #HE R 5

Br R

SFI5E3 A

P E S EEE



WiEE RHSEE MMBITERERES

% # s - BRHE s ¥ 8 i & & =
BRI 9,396,360 + 286, 954 9,683,314
EEAGHE 9,396, 360
EERE 286, 954
Z Ot [ 1 9,396,360 x 42.86% ( 30% + (1 — 30%) ) 4,027,279
KB RE 9,683,314 + 4,027,279 13,710, 593
—REEERE 13,710,593 x 53.85% ( 35% = (1 — 35%) ) — 3,747 7,379, 407
EX T 13,710,593 + 7,379, 407 21,090, 000
HETEELE 21,090,000 x 10.00% 2,109, 000
¥BERAH 21,090,000 + 2,109, 000 23,199, 000




BEARRE SHIGER MAIEHT & EHE R TS

% [ BA& - AR B B B ® # " =
EERA 9,683,314
HaREE AT & BE R E T 9,683,314
R AT & BHE R ERS 9,683,314
EEAGE 9, 396, 360
Bl & BER 9,065, 160
1 T ERER EL R TE 12.00 755, 430 9, 065, 160
A
&€ 276, 000
2 {TEE 10. 00 21, 600 276, 000
&
E 55, 200
3 & - W& EFE. EBETH 2.00 21, 600 55, 200
&
BEEEE 286, 954
EBRARE 90, 651
4 EHARE 1.00 90, 651 90, 651
=
BHEERARE 181, 303
5 BERERRE 1.00 181, 303 181, 303
=
EBHRRERE 15,000




BEARRE SHIGER MAIEHT & EHE R TS
2 o B - AR Bify ) i =
6 EERERE 1.00 15, 000 15, 000
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THSEE MM ERIERRE

&5 1
2 HMERER BEENE 1A&Y
2 [ g - BRKTE By = B {f %8 W = 5 &
ELEME HEm (C)
= 1.00 755, 430. 00 755, 430
& &t YE¥£8eH - 1.008 755, 430. 00 755, 430
&5 .2
W TAE 1Sy
2 L g - BRKTE By = B {f %8 W = 5 &
BFEEME HEm (A)
A 0.50 55, 200. 00 217,600
& it YEZEEH - 1.00[E=] 27, 600. 00 217, 600
&5 :3
B i - By EFH. EBRTTH HEED
% E R - kTiE By = B %8 = i &
BERME A (A)
A 0.50 55, 200. 00 217, 600
& &t YEZREH - 1.00[E=] 27, 600. 00 27,600
=5:4
2% EERARE 1KLY
2 L g - BRKTE By = B {f %8 W = 5 &
EHBARE
= 1.00 90, 651. 00 90, 651
& B YE¥REH : 1.00 90, 651. 00 90, 651
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EF5:5
&% BEERERARE =10
4 b g - BRKTE By 2 B {f £ 5 &
EEHRERRE
= 1.00 181, 303. 00 181, 303
& it YEZEEH - 1. 00K 181, 303. 00 181, 303
&5 :6
&% EBHRRE 1KLY
% E R - BRTE BARL 2 B %8 i &
XBEBRRSE
= 1.00 15, 000. 00 15, 000
& &t fEEfEH - 1.00K 15, 000. 00 15,000




